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Tén: Ngay thang: Piém:
8% — 4x> — 7% + 2x — x? A+ 4% — x+ dx — 2x
6x° + 3x+ 5% + 4(4x2 + 8x) 4x— x> — 4y’ — 2(6x — 7x2)
4(6x° — 4x) + 4% + Tx + 9x° 2% — 6x—Tx° — 2x + 3x
70 — 8¢ — dx + 2x + 87 2 — 6xF = 3x+ 27 + 71
S5x° + X2+ 3% + 4(9)(2 + 5x2) 8x° — 6x° +9x° — 3(3x3 + 5x3)
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Don gian hoa da thiic

Tén:

8% — dx? — T + 2x — x?
—7° + 3% + 2x

6x° + 3x + 5% + 4(4x” + 8x)
6x> + 2122 + 35x

4(6x° — 4x°) + 4% + Tx + 9x°
17 + 42 + Tx

7 — 8% — dx + 2x + 8x?
T — 2x

5 + X% + 322 + 49 + 5x%)
5¢ + 60x7

Ngay thang:

4+ 4 — x+ dx— 2x
4x% + 5x

dx — 9> — 4x — 2(6x — 7x2)
—13x° + 142" — 8

2% — 6x — 7> — 2x + 3x
—7 4+ 2% — 5x

20 — 6% = 3x+ 20 + 7
11x° — 62 — 3x

8x° — 6x° + 9x% — 3(3x° + 5x%)
—22x° + Ox?
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